
|z1 + z2|^2 + |z1 − z2|^2 = 2(|z1|^2 + |z2|^2)
|a+bi+x+yi|^2+|a+bi-x-yi|^2=2((a^2+b^2)^2+(x^2+y^2)^2)
((a+x)^2+(b+y)^2)^2+((a-x)^2+(b-y)^2)^2=2(a^4+b^4+2a^2b^2+x^4+y^4+2x^2y^2)
((a+x)^2+(b+y)^2)^2+((a-x)^2+(b-y)^2)^2=(a+x)^4+(b+y)^4+2(a+x)^2(b+y)^2+(a-x)^4+(b-y)^4+2(a-x)^2(b-y)^2=
=a^4+4a^3x+6a^2x^2+4ax^3+x^4+b^4+4b^3y+6b^2y^2+4by^3+y^4+(2a^2+2x^2+4ax)(b^2+y^2+2by)+
+a^4-4a^3x+6a^2x^2-4ax^3+x^4+b^4-4b^3y+6b^2y^2-4by^3+y^4+(2a^2+2x^2-4ax)(b^2+y^2-2by)=
==a^4+4a^3x+6a^2x^2+4ax^3+x^4+b^4+4b^3y+6b^2y^2+4by^3+y^4+2a^2b^2+2a^2y^2+4a^2by+2x^2b^2+2x^2y^2-4x^2by+4axb^2+4ax
y&2+8axby+
+a^4-4a^3x+6a^2x^2-4ax^3+x^4+b^4-4b^3y+6b^2y^2-4by^3+y^4+2a^2b^2+2a^2y^2-4a^2by+2x^2b^2+2x^2y^2+4x^2by+4axb^2+4axy&2
+8axby+

=2a^4+2b^4+4a^2b^2+2x^4+2y^4+4x^2y^2


